Warm Up
1) Find the value of ¢ that would make the
function continuous:

a.. . (2x*-3x,x<4 b. C,Xx<-2
f(X)—{ ox+e,xz4 TS {|3x 4, x> -2

2(4)=3()=-bl)+C  _5la)c=[3¢0)-4]
720 =-29+c IO'PC" )O

+q  4C
(o 10

[Ll‘{f-c. l:C/D/




2) Six chairs are set in a circle. How many

ways could they be arranged?
AR
—=— = |20
L J

3) Nina is taking a quiz. There are 6
questions, and she thinks there is a 60%
chance of answering correct. What is the
probability that she answers exactly 2

questions wrong? C (0 6) Co bo W
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Domain:

Range:

WB 511
4= 8

f0)=_|

f(6)=_f

Continuous?

Yes /{0)
I

y > -



. f0={n 3308 (00
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13-3

f0)=_0

f8)= 14

Continuous?

Yes /@

Z (0)’ Domain: fR

(l/o) Range: )f>—2
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f(-5)=_\
- -\

f25)=_=|

Continuous?

Yes

Domain: fR

Range:

y > -2

/
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3, x<-1
10. f(x)=[x+1' 1<x<4 f(-6) = S
o f2)= 3
17)= S
Continuous?

HOE &

1 Wl 2 x5 o ’!:%f‘}‘fes
Domain: (- oc:-DU[l..ﬂ']
Zﬁy‘.‘.s Range: '-2"5;'

No
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0= _~|
f4)=_3
()= 8
Continuous?

Yes /@
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x+4 -6sx<?2

pulCian W o B
f-3)=_|
: fq12)==10
£ Continuous?

e s R A W Yes (Ng)
Domain: 2 —é
? Range: _Y < é

N




3x+2,x< —4
1) f6) ={ —4,x > —4

f(-6)==16
f(-4=-10
f2)=-4
—2x—5x<2
3) f(x) = {1x+5,x>2
f(@) ==
f(2)==9
f@ =1
x+7,x=24
5 f(x) = [—2x,0 <x<4
5,x<0
f(-6) =3
fa =11

fe =15

2= {aves
D=
f3)=-10
f(s)=-14

3,x < -2
4) f(x) = {—2—4x,—2<x<3
x2—-1,x>3

f(-5) =3
f(1) ==6
f3)=8
-3x+1,x <6
6)f(x)= {Ex+3,x>6
f(-2)=1
fe)=—17
f@=9



Unit 5: Functions

Review

Functions Intervals Function Value
Transformations Extrema Continuous
Domain & Range  End Behavior ~ Graphing



1) f(x)=(x-3)*-4 ' x ; ?

a. Type Clutetre A [,

b. Transformation(s) - "—45 T T b
oJ‘l{' 3 Dpwh 4 i _ _4 _ IEyA

c. Graph L1 #ﬁ .;

d. Domain C1Aps. [Tl

e. Range y Z-“ /_\"

f. Extrema v
g, Posmve Interval i. End Behavior
_°'° DU(S Q‘"\ I Aade o, ‘F(%),oo

h. Increasing Interval As %-000, (’7‘-)"
(309) =



DI =R M

a. lType AJ}? W“"‘ ;

b. Transtormation(s) <~ /7771 ‘\ T

ﬂ({)’ Left 2/ “P = . PN

¢. Graph | NN

d. Domain

e. Range y= > \

f. Extrema v

o. Positive Interval i. End Behavior
(-s D as %2 -02 Fx)2-of

h. Increasing Interval a5 x2°°, Flx)»-0°

(=23



3) f(x)=(x+4)° +1

7 |
a. Type Cubic 1T/
b. Transformation(s) ~%/A=5- 01171335

i

W Il L&-p{- q | | a2l
¢. Graph | 1,
d. Domain TA - .
e. Range TR !
f. Extrema- 3 ¢!

Ol"‘lt . o
o. Positive Interval i. End Behavior
(-5°) a5 %> -0% blx)2- o

h. Increasing Interval 45 %22, Lt o

(‘o2



Continuous? /\/0

Domain: i?\

)/55

Range:




5) f(x) =vyx+5-2

a. Type §4 ) ﬁar(‘

b. Transformation(s) <77 ="

¢. Graph

d. Domain 9(_?-5

e. Range Yy = i
f. Extrema- >
g. Positive Interval (-—" ,od

h. Increasing Interval E’j @d)
/



6) f(x) = | — |

x+?2

a. Type ﬁati 0]

b. Transformation(s) ~ 7 S——1- =
==
\1 |
¢. Graph »
d. Domain L
e #F-& ¥

e. Range Yy 7=l C_O&/,DU(-//W)



Assignment::
Study All of Unit 3

WB 507 + Piecewise



